FHEmZ(FRER
{47 GSOFE

5k BiETE hefE |
1)  EBJF4E-VDE(TP-41)(16A)POWER SUPPLY CABLE (VDE-1.0x2Cx4.2M-HO7RNF) 411
2) |#E4F£ECORD ARMOR 17
3.) | EEREAH-DE2SVACUUM EXTENSION HOSE (4M)(BLACK) 452
4. EERFTE-GS225UBAYONET HOSE CONNECTOR 21
5.) | AEETFE 244 PANHEAD TAPPING SCREW-B (M4x16) 1
6.)  |BEBHUIF () S TPR-GSIFEHANDLE COVER-RIGHT (ORANGE-021C) 122
7) | BB (F )& TPR-GS9FEHANDLE COVER-LEFT (ORANGE-021C) 122
8.) EERERINCABLE CLIP !
9.) | AEETFEIELAPANHEAD TAPPING SCREW-B (M4x14) 1
10.)  [FLEE+F EH I IE44PANHEAD TAPPING SCREW-B (M4x25) 1
11A.) ERZEZSVR+4ER#)-GS225USPEED CONTROL + SOFT START (220V) 875
11A)) ERZEZEVR+4ERL#)-GS225USPEED CONTROL + SOFT START (110V) 875
11B.) |FJHRE8VR+4E B E)+ & #-GS225USPEED CONTROL + SOFT START + OVERLOAD PROTECTION (220V | 875
11B.) FH#ES8VR+4ERIH)+&#%-GS225USPEED CONTROL + SOFT START + OVERLOAD PROTECTION (110V | 875
12.) #FATERMINAL CONNECTOR BLOCK (PA-8-H) 7
13.) |H4R-GS225UWIRE LEAD (1015-18#16CM) 8
14.) |HO%3-GS225UWIRE LEAD (1015-18#12CM) 11
15.) |HH042-GS225UWIRE LEAD (1015-18#16CM) 7
16.) BERECKEY)-GS225UMOTOR SWITCH (110V&220V) 69
17.) IN/AN/A
18.) |B#MICARBON BRUSH (5x8x12) 28
19.) [BRMmIEE-GSOFECARBON BRUSH HOLDER (5x8) 52
20.) |EEEFH(EIKE)-GSIFEMOTOR HOUSING (ORANGE-021C) 129
21) |ZEF-GSYUESTATOR (110V-56x32x40) 340
21) |ZEF-GSYUESTATOR (220V-56x32x40) 336
22) REETFEEBIZL4PANHEAD TAPPING SCREW-A (M4x55) 3
23.) EEREHEK608BALL BEARING (608) 63
24.) [#T-GS225UARMATURE (110V-56x32x40) 481
24)) [#ET-GS225UARMATURE (220V-56x32x40) 470
25.) EElsfRE-GSOUGEAR PLATE (BLACK) 132
26.)  #AE-GS225UBUSHING (06x010x8) 8
27A.) | —ZRE5iR-GS225UINPUT GEAR (MO0.65x44T) 98
28A.) |—RE5kh-GS225UINPUT SHAFT (M0.8x11T) 138
29.) FHIFBEXTERNAL CIRCLIP (S-8) 1
30.) | " ZEEH-GS225ULAY GEAR (MO.8x41T) 138
31 [EIFEA S FIZ44SOCKET CAP SCREW (M5x10xP0.8) 3
32.) |EisFS-GSIGEAR HOUSING (SILVER) 336
33.)  HFEF M E S 1244 PANHEAD TAPPING SCREW-B-W/WASHER (M4x35) 1
34.) FIEBEXTERNAL CIRCLIP (S10) 1
35.) EEREHE6200BALL BEARING (6200) 139
36.) |EETHE[#PARALLEL KEY (3x3x8) 8
37.) | F#f-GS225USPINDLE (6.7MM) 138
38) IN/AN/A
38A.) [{EEfEH-GS225UFIRST DRIVE SHAFT (704MM) 173
39.) IN/AN/A
39A.) |$7%%-GSIFEEXTENSION COLUMN (L1040MM) 930
40.) IN/AN/A
40A.) [#H1EE-GS225UFOAM HANDLE GRIP (253MM) 91
41.) [{EEEh-GS225USHAFT CONNECTOR 100
42) [ FEREHE6001BALL BEARING (6001) 153
43.) HIBEEXTERNAL CIRCLIP (S-12) 1
44) HFEF E BB PANHEAD TAPPING SCREW-B (M4x20) 1
45.) VAR TE R (HE)-GSOFERIGHT DRIVE COVER (BLACK) 177
46.) | VARR[E ERE(/E25)-GSIFELEFT DRIVE COVER (BLACK) 177
47) B EE)E-GS225USECONDARY DRIVE SHAFT (320MM) 176
48) ERMESME-GS225UDRIVE SHAFT COVER 309
49.) IN/AN/A
50.)  IN/AN/A
51) IN/AN/A
52.) INJAN/A

FIHMLHE



FHEmZ(FRER
{47 GSOFE

5k BiETE hefE |
53) IN/JAN/A

54) IN/AN/A

55.) IN/AN/A

56.) INJAN/A

57.) | —FEE i24%-GSIOSCREW 10
58.) EEEE-GS225UPIVOT BASE (SILVER) 122
59.) |EEAZEE-GS225UPIVOT CONNECTING BRACKET (SIKVER) 184
60.) |EE#Z 3 #f-GS225UCONNECTING SPINDLE (M14xP2.0) 91
61.) EEREHEK6002BALL BEARING (6002) 281
62.) FHIFBINTERNAL CIRCLIP (R-32) 3
63.) BR4ETEE-GS225USPRING (02x045x049x40Lx4T) 12
64.) BRI EEAS - SV ACCUM HOSE 121
65.) | B EE-GS225USPRING (01x030x032x363Lx30T) 32
66.) FEREHEE-GS225UPLASTIC CLIP (BLACK) 12
67.) |FEA%EEZ-GS225USANDING PLATE COVER (BLACK) 238
68.) FHIFBEXTERNAL CIRCLIP (S-40) 8
69.) JElEAE-GS225USANDING PLATE BASE (BLACK) 238
70.)  BHEECERE-GS225UVELCRO SPONGE PAD (9Y) 294
71.) FIEBINTERNAL CIRCLIP (R-30) 3
72.)  IN/AN/A

73.)  BEFR-GS225USHAFT RACE (M14x020x6.5) 59
74.) DHEF-GS225UOIL SEAL (020x032x5) 14
75.)  HRfTEE-GSOFEBRUSH CAP (5x8) 8
76.) [7SFERFHEX KEY (M6) 11
77.)  RBETFEBE4%PANHEAD TAPPING SCREW-B (M5x20) 3
78.) FEEESH-E& H-GS225UTHUMB WHEEL (ORANGE-021C) 7
79.) EEHE-GSIGEFAN SHROUD (BLACK) 39
80.) |EETHEIFEPARALLEL KEY (3x3x6) 8
81) N/AN/A

82.) BLHIAF-EEFEMHE I TIE STRAP 14
83.) [EE[EfUF-4H-GSOUBAIL HANDLE (BLACK) 333
84.) N/AN/A

B4A.) |BEHE FHAS_ GS2ISCARRY BAG (ORANGE/BLACK/ORANGE-AGP) 784
85.) |ZEFBE-GSOUEFELT OILER (012.8x024x1) 7
Al) "ERERS{EEESE (A E)-GSOFERIGHT HOSE SUPPORT (BALCK) 149
A2) R (L5 E)-GSIFELEFT HOSE SUPPORT (BLACK) 149
A3) AFE+F A B4 PANHEAD TAPPING SCREW-B (M4x14) 1
A4) HFEF B BB PANHEAD TAPPING SCREW-B (M4x12) 1

FLHHMLHE



